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2016
Part-1I 3-Tier
BOTANY
PAPER—II
(General)
Full Marks : 90
Time : 3 Hours

The figures in the margin indicate full marks.

Candldates are requtred to give their answers in their
own words as far as practicable.

Nlustrate the answers wherever necessary.

Answer all questions.
Group—A
1. Answer any fen questions of the following : ‘ 2x10
(a) What is cell plate ? State its function.

(b) Write two main objectives of silviculture.
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{c) What is secondary growth ?
(d) Define amphiphloic siphonostele. Cite an example,

(e) Write two implication of ethnobotany.

{) What is G, {G-zero} phage ?

(g) State the significance of crossing over.

(h) What is ecotype ?

(i} What is test cross?

() What is histone ? Mention its type.

(k} What is lbiosphere ?

(I} Write the function of terminating codons.

(m} What does it mean by ascent of sap ?

{n) Write one example each of di- and oligo- saccharide.

(0} Name two nitrogen fixer microorganisms,

Group—B
2. Answer any five questions of the following : 8x5

(a) What is silviculture ? State its importance. Write a
note on the silviculture of Shorea robusta.
2+2+4
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{b) Describe the mechanism of transpiration on the basis
of Levitt theory. Mention the differences of

transpiration and guttation, 6+2

(c) What does it mean by DPD ? Briefly describe the
- interrelationship between DPD, OP and TP. 2+6

(d) What does it mean by Mendelism ? Write theMendel's
Laws of inheritance. Explain Mendelian ratio in

monohybrid cross. 1+3+4

{¢) What is plant succession? Distinguish between
primary and secondary succession. What is climax
concept ? 2+({2+2)+2

() Write notes on the following :

() Role of polyploidy in evolution ;
(ii} Properties of enzymes. 4+4

(g) Cite two examples each of natural and synthetic plant

hormones. Mention the physiological role of IAA in
plants. What is TCA cycle ? 2+4+2

(h) Give two examples of each of physical and chemical
mutagens ? State the mechanism of gene mutation

caused by UV ray and S-Bromouracil. 2+(3+3)
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Group—C

3. Answer any two questions of the following : 15x2

{a) What is complex tissue ? Name the types of complex
tissue and mention mention their respective eiements,

structure and function. ; 1 -%+1 %+4+4

(b) Write differences between halophytes and xerophytes
in respect of morphological, anatomical and
physiological characters. Define plankton and
benthos. 4+a+a+(13+1%)

(c) Define photosynthesis. What are the phases of
photosynthesis ? Mention the differences between
cyclic and non-cyclic photophosphorylation ? What
does it ean by C, and CAM plants? 142+8+(2+2) *

(d) What is cell cycle ? State the diiferent phases of cell
cycle. Write the significance of meiosis and mitosis.
Draw and describe Watson and Crick model of DNA
structure. - 1+2+(2+2}+8 -

(e) Distinguish between the following pairs :‘ Ixs
{1) Transition and Transversion ;

{iiiy Fascicular and interfascicular cambium ;
(iii) Allelic and non-allelic interaction ;
(iv) Linkage and crossing over ; and

{v) Gibbereilins and cytokiniz.
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